ACC501 Solved Quiz No 3 Fall 2011
In which type of market, used securities are traded? 

Select correct option: 

Primary market

Secondary market

Tertiary market

None of the given options

Which of the following form of business organization is least regulated?

Select correct option: 

Sole-proprietorship

General Partnership

Limited Partnership

Corporation

Which of the following refers to the difference between the sale price and cost of inventory?

Select correct option: 

Net loss

Net worth

Markup

Markdown

Which of the following is measured by profit margin? 

Select correct option: 

Operating efficiency

Asset use efficiency

Financial policy

Dividend policy

A business owned by a single person is known as:

Select correct option: 

Sole-proprietorship

General partnership

Limited partnership

Corporation

Net Income after taxation differs from Net Cash Flow from operations because:

Select correct option: 

Depreciation expense is shown in the Cash Flow Statement and not in the Income Statement

Non-cash items are included in the Income Statement, but not in the Cash Flow Statement

Cash sales are shown in the Cash Flow Statement but not in the Income Statement

Cash expenses are shown in the Cash Flow Statement but not in the Income Statement

The most common application of term “Finance” involves raising money to acquire_________. 

Select correct option: 

Current Asset

Fixed Asset

Intangible Asset 

All of the given options 

Which of the following is a series of constant cash flows that occur at the end of each period for some fixed number of periods?

Select correct option: 

Ordinary annuity

Annuity due

Perpetuity

None of the given options

Which of the following equation is known as Cash Flow (CF) identity?

Select correct option: 

CF from Assets = CF to Creditors – CF to Stockholder

CF from Assets = CF to Stockholders – CF to Creditors

CF to Stockholders = CF to Creditors + CF from Assets

CF from Assets = CF to Creditors + CF to Stockholder

SNT Corporation has policy of paying a Rs. 6 per share dividend every year.

If this policy is to continue indefinitely, what will be the value of a share of

stock at a 15% required rate of return?

Select correct option:

Rs. 30

Rs. 40

Rs. 50

Rs. 60

